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IECSRGBu4 standard lightness*

* Yoc=Yw  nc=100,

I lEcsroBua=50 (YY) /M2 (Y,=18, Y,/ 100<Y<=Y, )
I (3,6)=13 1% ,(18)=50,* ,(90)=191

1* =191,18y=1,2, 1§=1/1,2=0,83
1*16=50,00 $,=50,0Q D,==0,
*3,6=13,05,1%,50,00 =18

log[I* /I* ,J= =0,83
application
y b range
/7 1Yy=18
=36 TYy=90

IECSRGBu4
tristimulus value difference
YoemYw  nc=100,
I lEcsroBua=50 (YY) 2(Y,=18, ¥,/ 100<Y<=Y, )
log(dY) = (1/1,2) log[1,2(,/50)] + [1~(1/1,2)] logY)

log(dY)=2,4Q m.=

1
dYg0=3,13,y=1,2, 1¥=1/1,2=0,83
dY;g=2,40 S,=50,0Q D,=-0,00 1 application
dY;6=1,83 Y,=18, d\=2,40 1 range
1Y,=18
Yn=3.6  Yw=90

log AY/Y) IECSRGBu4 N
S=(AYIY) tristimulus vall,le sensitivity

Yoc=Yw - nc=100
I lEcsroBua=50 (YY) 2(Y,=18, Y,/ 100<Y<=Y, )
log(dY/Y)= log[1,2(Y,/50)] - (1/1,2) log{/Y,,)
= (1/1.2) log[1,2(,/50)] - (1/1,2) log¥)

N

" oS S 3 Lo
(dY/Y}=0,1333 §=50,00 D 0 Vo
(dY/Y} =0,5093 Y, =18, dY=2,

1Y,=18
Yn=36 ! Ygy=90

log (Y/AY) IECSRGBu4
- tristimulus value contrast
SENSY Yoc=Yw  nc=100
I IEcsroBua=50 (Y/Y) /1 2(Y,=18, Y,/ 100<Y<=Y, )
log(Y/dY)= - log[1,2(//50)] + (1/1,2) log{/Yy)
= - (1/1,2) log[1,2(,/50)] + (1/12) log¥)
* =50, dY,=2,4Q Y,/dY,=7 P
1
1
1
v / 0
(Y/dY}=28,67, L2, 14=1/1,240,83
(Y/dY)g=7,49 5=50,00 D,=-0,80  application
(Y/dY} 6=1,96 Y,=18, d\=2,40 : range
Y,=18
Ya=3,6  Y\y=90

(P |IECsRGBuA4 relative standard lightnesd*/I* ,
I Yoc=Yw - nc=100,

I |EcsraBus=50 (YY) 12(Y,=18, Y,/ 100Y<=Y,o)
I \(3,6)=13 1% ,(18)=50,I* (90)=191

* gofl* =3,82,y=1,2, 1§=1/1,2=0,83
I* 1g/l* =1,00 $,=50,00 D,=—0,00
I* 3 ¢l,=0,26,¥,=50,00 Y18

log[i*/I* ]=0, m,=0,83

log(AY/AY,) IECSRGBuA4 relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
I |EcsraBus=50 (Y/Y) 1 2(Y,=18, Y, /100Y<=Y,o)
log(dY/dY,) = [1~(1/1,2)] loglf/Y,)

dYeo/dY,=1,30,y=1,2, 14=1/1,2=0,83
dY;g/dY,=1,00 $,50,00 D,=-0,00
dY3,¢dY,=0,76 Y,=18 dY=2,40

=50, dY,=2,40 dY,/

application
nge

1y,=18
VN=3601 Y =90 W

BEV40-4A
log [(AY/Y) | (AYIY),] IECSRGBuU4 relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =Yy, =100

I |EcsreBus=50 (Y/Y) - 2(Y,=18, Y, /100Y<=Y,,o)
logl(dYM/(AYY),] = - (1/1,2) logl/Y,)

(AY/Yho/(dYIV)=0:06,y=1,2,
(dY/Y)g/(dY/Y)=1,08 §=50,00 D;=—0,00
(dY/Yg’d(dY/Y)Z=3,Bl =18 dY=2,40

<

1,2, 14=1/1,2=0,83

application
range

Ny
log[(dY/YY(dY/Y),]=0, m,;=—0,83
I¥,=50, dY,=2,40 dY,/Y,=0,1333 | ¥,
1y,=18
Yn=3.6  Yw=90

BEV40-6A
log [(Y/AY) I (YIAY),] IECSRGBu4 relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

nc
I |EcsroBus=50 (YY) H2(Y, =18, Y, /100Y<=Y,o)
logl(Y/dY)/(Y/dY),] = (1/1,2) logiY/Y,)

(Y/dY)yo/(Y/dY)=3,82,y=1,2, 1=1/1,2=0,83
(Y/dY)g/(Y/dY)=1,00 S§=50,00 D,=—0,00
(Y/dY} g(Y/dY)=0,26 Y,=18, dY=2,40 ¢

log[(Y/dY)(Y/dY),]=0, m,=0,83

application
range

VNE3601 Y =90 T,

IECSRGBu4 standard lightnessL.*
L* YocmL*w -~ nc=100

L* 1csraBus=50 (Y/Yy) 12(Y, =18, Y,/ 100<Y<=Y, o)
L*(3,6)=13 L* ,(18)=50,L* (90)=191

L*g5=191,18y=1,2, 14=1/1,2=0,83
L*15=50,00 $=50,00 D,=-0,00
L*36=13,05,0%,=50,00 Y=18

application
range

1
\Y,=18
L ANE36 VYe=90

BEV40-1A

logAY) IECSRGBu4

AY tristimulus value difference
Yoc=L*w - nc=100,

L* 1ecsraBus=50 (Y/Yy) (Y, =18, Y, /100<Y<=Y, o)

log(dY) = (1/1,2) log[1,2(,/50)] + [1~(1/1,2)] logY)

1
dYg0=3,13,y=1,2, 1¥=1/1,2=0,83
dY;g=2,40 S§,=50,0Q D,=-0,00 1 application
dY;6=1,83 Y,=18, d\=2,40 1 range
1Y,=18
MN=3.600 Y =90 T

BEV40-3A

log AY/Y) IECSRGBu4

tristimulus value sensitivi
=AY Yol W =100 Y

nc’
L* 1ecsraBus=50 (Y/Yy) 1 2(Y,=18, Y, /100<Y<=Y, o)
log(@dY/Y)= log[L,2(Y,/50)] - (1/1,2) log¥/Y,)
= (1/1.2) log[1,2(,/50)] - (1/1,2) log¥)
N\

N

(dY/Y}¢=0,1333 §=50,0Q D=
(dY/Y} =0,5093 Y, =18, dY=2,

BEV40-5A

log (Y/AY) IECSRGBu4

tristimulus value contrast
G Yol W =100

nc’
L* |Ecsropua=50 (Y/Y) Y 2(Y,=18, Y,/ 100Y<=Y, o)
log(Y/dY)= - log[1,2{/,,/50)] + (1/1,2) log¥(/Yy)
= - (1/1,2) log[1,2(,/50)] + (1/12) log¥)
, d 40, Y,/dY,=7 v 4
1
1
1
/ 1
(Y/dYyo=28,67,v 1,2, 1§=1/1,240,83
(Y/dY)g=7,49 $,=50,0Q Dn=—0,00 application
(Y/dY} 6=1,96 Y,=18 dY=2,40 : range
Yu=18

BEV40-7A
BEV40-7N

TUB-test chart BEV4; IECSRGBu4 & L* for Y/Y, with additional dataYnc=
Absolute and relative lightness, sensitivity and cont&st0,00,

L*/L* |IECSRGBuA4 relative standard lightness_*/L*

LHIL* YocmL*w -~ n¢=100,
L* lEcsraBus=50 (YY) /M2 (Y218, Y,/ 100<Y<=Y,o)
L* (3,6)=13 L* ,(18)=50,L* y(90)=191

L*gg/L*=3,82,y=1,2, 1y=1/1,2=0,83
L*1¢/L*=1,0Q §=50,0Q D,=-0,00
L*3 ¢L*=0,26,L%,=50,0Q =18

log[L*/L* ,]=0, m=0,83

application
range

Y,=18
NN=3601 Yw =90l

BEV40-2A

log(AY/AY,) IECSRGBu4 relative
tristimulus value difference

AYIAY, oozl r gy 100,

L* lEcsroBus=50 (YY) M 2(Y,=18, Y,/ 100<Y<=Y,,o)
log(dY/dY,) = [1-(1/1,2)] log¥/Y,)

dYeo/dY,=1,30,y=1,2, 14=1/1,2=0,83
dY;g/dY,=1,00 $,50,00 D,=-0,00
dY3,¢dY,=0,76 Y,=18 dY=2,40

log[(dYy(dY)u]

application
nge

1Y,=18
Yw=90

BEV40-4A
log [(AY/Y) | (AYIY),] IECSRGBU4 relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100,

nc’
L* lEcsraBua=50 (Y/Y,) M 2(Y,=18, Y,/ 100<Y<=Y,o)
logl( YY)l = - (1/1,2) logl/Y,)

(AY/Yho/(dYIV)=0n06,y=1,2, 1§=1/1,2=0,83

(dY/YYg/(dY/Y)=1,05 ,00 D=-0,00
(dY/Yg’d(dY/Y)Z:S,Bl w=18 dY=2,40

N\ application
range
)
log[(dY/YY(dY/Y),]=0, m,;=-0,83
L*,=50, dY,=2,40 dY,/¥,=0,1333 ] %
1y =18
Yn=3,6  Y\=90

>

BEV40-6A
log [(Y/AY) I (YIAY),] IECSRGBu4 relative
tistimulus value contrast

CrlCru=(YIAI(YIAY), v 21, > 2100,

nc
L* lEcsroBus=50 (YY) /1 2(Y,=18, Y,/ 100<Y<=Y,,)
log[(Y/dY)/(Y/dY),] = (1/1,2) logiY/Y,)

(YIdYyo/(Y/dY)=3,82,y=1,2, 1§=1/1,2=0,83
(Y/dY)¢/(Y/dY)=1,00 §=50,0Q D,=-0,00
(Y/dY} ¢(Y/dY)=0,26 Y,=18, d‘ﬁ=2,40/’
log[(Y/dY)(Y/dY)]=0, m,=0,83  _ “ ‘
2
L* =50, dY,=2,4Q Y, /dY,=7
application
1 range
1y =18
Ya=3,6  Y\y=90

BEV40-8A
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